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1. In an arithmetic series

e the first term is 16 a = /6
e the 21st term is 24

(a) Find the common difference of the series.

(b) Hence find the sum of the first 500 terms of the series.
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o) Ui = a + (n-1)d

2¢ = )6 + 20d
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2. The functions f and g are defined by

fx)=7-2x* x€R
3x
g = Sx-1 ¥ ER x;ﬁg
(a) State the range of
@
(b) Find gf(1.8)
2
(c) Find g''(x)
(2)
o-l/ L(x) €7
rs 7
2
L/ f(10)= 7 - 2()8)
= O0.52
_j(O-SZ> - 5(0‘.54%
s(ost) —1
= 0.97S5
cll 5/(:0) = 3=
Sx -1
g = 3 =
J S — |
2¢ = SS9
S -1
X ( Sy - l\ = gq
J 4 J
S:Jr..'j - x = 3-—3
g:r_.-j - 'S-j = x
ua (S - 3) = >
J 7
3 T G -3
A _ D
\ J [x) = Sx - 3 J
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3. Using the laws of logarithms, solve the equation

log, (12y +5) —log, (1 —3y) =2
(©)
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4. Given that 6 is small and measured in radians, use the small angle approximations to show that

4sin%+3c0529za+b6+092

where a, b and c are integers to be found.

(&)

S,/ ’

&
éz _—— +L

R

sntl

l,PSt'A'%' -+ ?(;[ —'S;nﬂle)

v (3) ~z2(1—0o")

26 +3—34"

3 +206 — 36

A= 3 =2 c=-13

P 6 8 7 3 2 A 0 8 4 8

| [N

’0
XK

0.><,

9%
333
0@

5

{9
X
XS

’:0
o3¢
S

<
5

29088
55

3

558

deloteds
SRS
Sootetoteteled
%!
09598

,/
%8
53
ode30e?
GS5S

25
09598
X5
295059598




3%%%%%;
ﬁ%&%&%&
L

X
o
2
ot
o2

%
%
5
35
SRLLKS
%
RLLRRRKS

S0

X
82
25
QL

%
5
otods
o205

X

<

oretesetes
L5

"

R
555

«

X
55

L
poes

B
P

P
X
bete%

X

A
i
KY

XK

‘ﬁ[it
cooselsatolel
LK

Y~
;o:

W
—

S
s
o5 aele!
o 08
S0

IR
SRS O KNI
% \
Y
G RIISRIRS
CRRLRLRLKRS

020000,
SRR
XK

S

SRR
XKXXKH

oo
XX

RS
A0 000
SR
SRR

SRRRK

00‘0.:.00
9%
RS

096%%
o96%%
QK5
XXX
R

s

RRRR
RS
RLIRLRS

$9%%
OAQQ’

s

Question 4 continued

(Total for Question 4 is 3 marks)

|

R A O 0 9
Turn over »
P 6 8 7 3 2 A 0 9 4 38 urnove



5. The curve C has equation

y=>5x*—24x3 + 42x* - 32x + 11 xeR

(a) Find
dy
1 —_
(1) "
2
(i) &
dx2
3)
(b) (1) Verify that C has a stationary point at x = 1
(i1) Show that this stationary point is a point of inflection, giving reasons for
your answer.
“4)
3
5o/ A9 =20z —72x> +% 42 — 32
dx
! — 60 2" — /4494 x + 8&
AL*

Li/ whew 2=1 g 72°(1J3"71(/)1+8¢+(') -32
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Figure 1

The shape OABCDEFO shown in Figure 1 is a design for a logo.

In the design

* OAB is a sector of a circle centre O and radius r

» sector OFFE is congruent to sector OAB

* ODC is a sector of a circle centre O and radius 2r
* AOF is a straight line

Given that the size of angle COD is 6 radians,

(a) write down, in terms of 6, the size of angle AOB

(b) Show that the area of the logo is

l 2
—r2 (36 +
2r( )

(c) Find the perimeter of the logo, giving your answer in simplest form in terms of
r, @ and 7.

w/ o7 — &
2~

L/ Seclor area = —-2’—_— r -6

area OAR + areuw DEF — }’-L ( ,T—iﬁ \

ar<a  OCD * -"Z'(Zf)19

Tolal avea = r?-(rr—a) -+ ’;'(Zr)lé
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Question 6 continued

To t=l enmetes = -6
pe it 6"/‘1"2/49 1’,2/(%)

= Y4r + 22 t vy -ré

= Yr +tvrg trm
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Question 6 continued
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In this question you should show all stages of your working.

Solutions relying entirely on calculator technology are not acceptable.

VA C
B
O X
R
P(5,-13)
ﬁ

Figure 2
Figure 2 shows a sketch of part of the curve C with equation
y=x"—10x*+27x-23
The point P(5, —13) lies on C

The line / is the tangent to C at P

(a) Use differentiation to find the equation of /, giving your answer in the form y = mx + ¢
where m and c are integers to be found.

“4)
(b) Hence verify that / meets C again on the y-axis.
(1)
The finite region R, shown shaded in Figure 2, is bounded by the curve C and the line /.
(c) Use algebraic integration to find the exact area of R.
“4)
o/ %—:31_1"202,1-2_7
wheww 2. =5 ;/i:: = ?(s)" — 20(5) + 27
=L
M AR A
P 6 8 7 3 2 A 0 1 6 4 8
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Question 7 continued
(f, -73) ne = 2
Z, ‘4!
J—--13 = 2= —-5)

gy+/32 = 2x - o0

Y =2.:_——2,3

E/ whea =z=o

y= (o)’ —re(e) +27(e) —23

- 27X
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Question 7 continued
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. The curve C has equation

px>+gxy + 3y =26

where p and g are constants.

(a) Show that

dy apx® + bqy
dx gx+cy

where a, b and ¢ are integers to be found.

C))
Given that
* the point P(-1, —4) lies on C
* the normal to C at P has equation 19x + 26y + 123 =0
(b) find the value of p and the value of ¢.
)
o 3 + oc +§ P B4
R i VR
Aw = i><f_£z_ = _‘7!_:1—
o x- A x ox
= oA dy —
EF:L +217£—1'ZL7 “’éj;f— = 0
-211 + 6 —'—/-'1- = =3 :L'L —
A - _ T
(g2 ely) = =S =37
oA _ 2
i B

b (-1,-4) ler on

P 6 8 7 3 2 A 0 2 0 4 8

7z +€y
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Question 8 continued
P(-)"*9l-)(=4) T 2(-9)" = 24
—F - 4 9 + & 3 = 2

.—F—f-L_!,.? _;—LL

/71,"'2{]—!-/’),3 =0

Zé‘j = —1/9x —,23

'
e

Ay = _

73‘ = TSpx —1

7z *éy

2¢ = =3p(-) —2(-4)

/7 1(_,)+é(-nf)

26 = Z 5 %1

7 —1 -2

208 = /7/9 — 349
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Question 8 continued
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9. Show that
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10. The time, 7 seconds, that a pendulum takes to complete one swing is modelled by the formula
T=al’

where / metres is the length of the pendulum and a and b are constants.

(a) Show that this relationship can be written in the form

log,, T=blog, [ +log  a
(2)

log T 4

/. (0.21, 0.45)

(-0.7, 0) 0 log,,/

Figure 3

A student carried out an experiment to find the values of the constants a and b.
The student recorded the value of T for different values of /.

Figure 3 shows the linear relationship between log,, / and log,, T for the student’s data.
The straight line passes through the points (—0.7, 0) and (0.21, 0.45)

Using this information,

(b) find a complete equation for the model in the form
T=al’

giving the value of a and the value of b, each to 3 significant figures.

3

(c) With reference to the model, interpret the value of the constant a.

1)

a/ 7 al

b
Zf 7 = o oL
‘]ID / ’Io (
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11. e
A S5
Y ;:{_\:Qétv_\'
3
E/\
=
y= 2 x - 3% \
IK e
Croiles L wite~y=o
! g
0 2w 0~ 1= -3k
Figure 4 Bhe = 2=
}_ ke © >
Figure 4 shows a sketch of the graph with equation v
v =12x—3k|

where £ is a positive constant.
(a) Sketch the graph with equation y = f(x) where
f(x)=k—|2x—3k]|

stating
* the coordinates of the maximum point

» the coordinates of any points where the graph cuts the coordinate axes

C)

(b) Find, in terms of £, the set of values of x for which

k—12x—-3k|>x—k
giving your answer in set notation.

“)

(c) Find, in terms of £, the coordinates of the minimum point of the graph with equation

1
=3-5f] —x
g (2 )

(2)

30
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12. (a) Use the substitution u =1+ +/x to show that

16 q 13
J‘ x dx_J' 2=’
NENT A

where p and ¢ are constants to be found.

3)
(b) Hence show that

16
X
dx=4-B1In5
J-O 1++/x "

where A and B are constants to be found.

4)
7
M:/‘f'f; \(‘ /T,r—z_ of %
A4 _— L 7T ’
o Z/ u.:/-i‘m
= —— = &
Z7= wu = ) +o
5 o ol ol
J" A Aw
5 X 9= = = “w -1
} A > = (u—l)
I3 z
(M-—l) L(M.—I) p(ut
; oA
[y 3
J 2 =) 4.
’ “

L) 2w (at )]

2_(147'—-2.u—f-/) (M—'j

cA
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13. The curve C has parametric equations

x =sin20 y = cosec’d O<<9<%

(a) Find an expression for % in terms of 6

(b) Hence find the exact value of the gradient of the tangent to C at the point where y = 8

Ax - 2 cos 26 oy =
oAb e

2/

Ay AL s
L e T

2-cos20

y|

('J/ h/Lu.-cq, J:S

2

¢ = cosec @
2 <= Cesec b
2 = |
SIi~&
- L
a = 6

de oz =
Axr  (2c0526)(5in*p)( tonb)

_(240.: l;—)(ﬁn ’)3(f‘an E)
= - 2_['._\[_-5_

38
— R K100 00 A
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14.

40

< &m P

Figure 5

Water flows at a constant rate into a large tank.

The tank is a cuboid, with all sides of negligible thickness.

The base of the tank measures 8 m by 3 m and the height of the tank is Sm.
There is a tap at a point 7 at the bottom of the tank, as shown in Figure 5.

At time ¢ minutes after the tap has been opened
» the depth of water in the tank is & metres
» water is flowing into the tank at a constant rate of 0.48 m* per minute

« water is modelled as leaving the tank through the tap at a rate of 0.12m?* per minute

(a) Show that, according to the model,

dh
1200 — =24 -5h
dr

Given that when the tap was opened, the depth of water in the tank was 2 m,

(b) show that, according to the model,
h=A+Be™"

where A, B and k are constants to be found.
Given that the tap remains open,

(c) determine, according to the model, whether the tank will ever become full, giving a
reason for your answer.

Adv - o449 - 0.k
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Question 14 continued
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15.

(a) Express 2cosé —sinf in the form Rcos(€ + a), where R >0 and 0 < a < z

2
Give the exact value of R and the value of a in radians to 3 decimal places.
3)
Water level
Figure 6
Figure 6 shows the cross-section of a water wheel.
The wheel is free to rotate about a fixed axis through the point C.
The point P is at the end of one of the paddles of the wheel, as shown in Figure 6.
The water level is assumed to be horizontal and of constant height.
The vertical height, H metres, of P above the water level is modelled by the equation
H=3+4cos(0.5¢) — 2sin(0.57)
where ¢ is the time in seconds after the wheel starts rotating.
Using the model, find
(b) (1) the maximum height of P above the water level,
(i1) the value of # when this maximum height first occurs, giving your answer to one
decimal place.
3)
In a single revolution of the wheel, P is below the water level for a total of 7" seconds.
According to the model,
(c) find the value of T giving your answer to 3 significant figures.
(Solutions based entirely on calculator technology are not acceptable.)
4)
In reality, the water level may not be of constant height.
(d) Explain how the equation of the model should be refined to take this into account.
(1)
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Question 15 continued

Casﬂ-rs)—- cosBAcosR — siafsinll

K cos (9 ‘f'ol) = ReosB cos. — R sinbsino

> Deost —|sin g

E ¢

os & = 2 R s~ o= = |
K:.fz"--u“ tan o = —"‘?_’_‘
=I5
- L = t‘a—n-l('k)
= 0.46y

——

\/_Z:cos(t? T o -yl )

Y/

¥ =3+ Z([Dbto-ff) -’ZE;A(D-Sb))

b - 0.C¢t

H :3 + 2(‘/? c,o.r(ﬂ.gt -+ ov‘lf-)s

H= 3+ ZECO.S(O-S(‘: + 0. 464

1) Mex Height © 3 r2[C m

P———

/

) Mex Weight ocevs  wien cos(o.S¢ +o.46e) = |

o.S¢E -rd-‘f'(-.!r
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¢) The wheel

go-es onder (ater whea H =0
0 = 3 + 2{5 cos( 0.5 +o.46«)
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a5
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